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31 fs-J1au  2539

fJ*mfyl*d niTi % sad&~

h3h~ ~mfJLJrwcu

80,000 1 %

40,000 5 %

10,000 10 %

2,000 20 %

1,000 25 %

3.000 30 %

50 %

ilU?Ul&y
fmfdtzwnd

800

2,000

1,000

400

250

900

m

§mi
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L%4m 150,000 gnu; 200,000

mm~u=mnm~uG&y& 20,000 L%xim 150,000

l%al~fiudll~4lu 30,000 ntlWiiu'snis 20,000

fpwd 20u.000 l%.d~fiuA'll~4lfJ 30,000

TiAh~l 10.0w ijUd61 164,owJ

dX&Vl41~ $.OOO l%ds=6uri11iis'1u 14,000

rjulJ~nirdll~4lu 14,000 P;lr~an~a~nPw~~~ 22.000

Zj""i: 200,000

l%A*n 16,WO &LllssAFi1-&41u  16.000

4hll~~un'lwlu 16,000 &dflm 16,000
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Q”Ui%lQau 560,000
Q”MiT 560,000

l5dhlrr”-l9hdG-$Q”ltii

n.m. 31 lwm 240,000

5h.EWlilQ 20,000

Fuf% 8,000

gnuiifow 268,000
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r3una 266,000

&d 6,000

ipi%fmd 292,000

fi.El. 1 Rhdi%l 140,000

aan&iw 1,400

kml 141,400
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Present Value of annuity of 1 +lfijlA~~~~L~tdl?R7 2  5

&mElnr&  15% = 1.625709

Present Value of Interest = 18,000 x 1.625709

= 29,263 uin

Present Value ?i&&.4m.w1*nr&  = 113,421 + 29,263

= 142,664 ¶Jln

5bda~Ll~~l?“S6ifl~~~u~m  = 150,000 142,684-

= 7,316 um

,
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N ?Gi6a 7,316 142,684

L&ild~~ 1 18,000 21,403 3,403 3,913 146,087

Likildili 2 2Lm m 150,000

zL?l.l§
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nitii&~~uh\d~l!?i~m  (Discounting Notes Receivable)
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2) ~~~~al~nmsldl~lsl~u~ald~~~Pd~mfl  16% mywdlti&i&uun  tihtW4  th

15 514 (1 wm. 15 n.u.)

16 4.5
= -x61,040x -

100 12
= 3.662.40 UIR

3) hm.l~u~r~ti = 61,040 - 3.662.40

= 57,377.60  Ulm

5) fhhmrvmu~~mflnti~ti = 57,377.60  - 57,260

= 11760 LIIW
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57,377.60

56,000

1,260

117.60
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56,000

56,000
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illIn

180,000

120,000

200,000

100,000

50,000

150,000

_seaon

850,000

110,000

120,000
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